1 pb & foulout foulout pb & foulout pb & foulout pb & foulout
2 pb & popout popout pb & popout pb & popout pb & popout
3 foulout foulout foulout foulout pb & foulout
4 |wid pitch & pop wild pitch & pop wild pitch & pop | wild pitch & pop wild pitch & pof
5 |wid pitch & pop wild pitch & pop wild pitch & pop | wild pitch & pop wild pitch & por
6 |wid pitch & pop wild pitch & pop wild pitch & pop | wild pitch & pop wild pitch & por
7 popout popout popout popout pb & popout
8 gbB popout gbC pb & popout pb & popout
13 gbB pb & popout gbB pb & popout pb & popout
14 popout pb & popout popout pb & popout pb & popout
15 foulout pb & foulout pb & foulout pb & foulout pb & foulout
16 popout pb & popout pb & popout pb & popout pb & popout
17 foulout pb & foulout pb & foulout pb & foulout pb & foulout
18 foulout foulout pb & foulout pb & foulout pb & foulout
19 foulout foulout pb & foulout pb & foulout pb & foulout
20 foulout foulout pb & foulout pb & foulout pb & foulout
EO E4 E8 E11 E14
2-12=gbC 2=F(1) 1-4 2=E(1) 1-2 2=E(1) 1-5 2-F(1) 1-2
popout 5-6 popout 3-6 popout 6 popout 3-6
3.4, 11, 12=E(1) [3-6, 11, 12=E(1) |3-7, 11, 12=E(1)| 3-9, 12=E(1)
5-10=gbC 7-10=gbC 8-10=gbC 10-11=gbC
E1 E5 E9 E12 E15
2-E(1) 1 2=E(1)1-5 2-£(1) 1-3 2-8=E(1) 2=E(1) 1-3
popout 2-6 popout 6 popout 4-6 9-12-=-gbC ~ popout 4-6
3=E(1) 3-5, 12=E(1) 3-6, 8=E(1) 3.9,11, 12=E(1)
4-12=gbC 6-11=gbC 7, 9-12=gbC 10=gbC
E2 E6 E10 E13 E16 or more
2=E(1)1-2 25, 11, 12=E(1) 2=F(1) 1-4 2=E(1) 1 2-E(1) 1-4
popout 3-6 6-10=gbC popout 5-6 popout 2-6 popout 5-6
3, 11=E(1) 3-7, 12=E(1) |3-8, 11, 12=E(1) [ 3-11=E(1)
4-10, 12=gbC 8-11=gbC 9-10=gbC 12=gbC
E3 E7
2-E(1) 1-3 2=F(1) 1
popout 4-6 popout 2-6
3-4, 12=E(1) 3-6, 12=E(1)
5.-11=gbC 7-11=gbC




2 gbA SI* S Sre S
3 gbA gbC S S S
18 gbA gbC ghC SI SI
19 gbA gbC gbC SI SIF*
20 gbA gbA ghB gbC SI*
EO E11 E17 E23 E31
2-12=gbA 2=E(1)1-2 2=F(1)1-5 2=E£(1)1-3 2.8, 11, 12=E(1)
gbA 3-6 gbA 6 gbA 4-6 9-10=gbA
3-5, 12=E(1) 3-6, 12=E(1) 3-7, 12=E(1)
6-11=gbA 7-11=gbA 8-11=gbA
E4 E12 E18 E24 E33
2=F(1) 1-4 2=F(1) 1 2=F(1) 1-5 2-E(1) 1-3 2=E(1) 1-5
gbA 5-6 gbA 2-6 gbA 6 gbA 4-6 gbA 6
3, 12=E(1) 3-5, 11=E(1) 3-6, 11=E(1) 3.7, 11=E(1) 3-9, 12=E(1)
4-11=gbA 6-10, 12=gbA | 7-10, 12=gbA | 8-10, 12=gbA 10-11=gbA
E6 E13 E19 E26 E34
2=F(1)1-4 2-F(1)1 2-E(1)1-5 2-F(1) 12 2=E(1)15
gbA 5-6 gbA 2-6 gbA 6 gbA 3-6 gbA 6
3-4=E(1) 3-5, 11, 12=E(1) [3-6, 11, 12=E(1) 3-7, 9=E(1) 39, 11=E(1)
5-12=gbA 6-10=gbA 7-10=gbA 8, 10-12=gbA 10, 12=gbA
E7 E14 E20 E27 E35
2-F1)1-3 2=F(1) 1 2-F£(1) 1-4 2=F(1) 1 2=E(1) 1-4
gbA 4-6 gbA 2-6 gbA 5-6 gbA 2-6 gbA 5-6
3-4, 12=E(1) 3-5, 9=E(1) 3-6, 9=E(1) 3-7, 10, 11=E(1) 3-10=E(1)
5-11=gbA 6-8, 10-12=gbA |78, 10-12=gbA | 8-9, 12=gbA 11, 12=gbA
E8 E15 E21 E28 E36
2=-F(1)1-3 2.5, 10, 12=E(1) 2=F(1) 14 2=E(1)1 2=F(1) 14
gbA 4-6 6-9, 11=gbA gbA 5-6 gbA 2-6 gbA 5-6
3-4, 11=E(1) 3-6, 10, 11=E(1) 3-8, 12=E(1) 3-10, 12=£(1)
5-10, 12=gbA 7-9, 12=gbA 9-11=gbA 11=gbA
E10 E16 E22 E30 E38 or more
2-F(1)1-2 2-6=E(1) 2-F(1)1-3 2-8, 11=E(1) 2=FE(1) 1-3
gbA 3-6 7-12=gbA gbA 4-6 9-10, 12=gbA gbA 4-6
+ 3-5=E(1) 3-7=E(1) 3-12=E(1)
6-12=gbA 8-12=gbA




1 gbA Sl
2 gbA sIt S S Sl**
3 gbA gbC Sl S SI**
4 gbA ghC S DO** DO**
5 gbA gbC gbC DO** DO**
6 gbA gbA gbC Sl SI*
16 gbA gbB gbC gbC SI*
17 gbA gbB gbB gbC DO**
18 gbA gbA gbB ghC gbC
19 gbA gbA gbB gbC ghC
20 gbA gbA gbA gbC gbC
E1 E6 E11 E16 E21
2-£(2) 1-3 2-E(2) 1-4 2-F(2) 2-F(2) 1-2 2-E(2) 1-3
gbA 4-6 gbA 5-6 3-6, 12=E(1) gbA 3-6 gbA 4-6
12=E(1) 3-4, 10=E(1) 7-11=gbA 3.7, 11, 12=E(1)| 3-9, 12=E(1)
3-11=gbA 5.9, 11, 12=gbA 8-10=gbA 10, 11=gbA
E2 E7 E12 E17 E22
2-E(2) 1-5 2-E(2) 1 2-E(2) 1-3 2-E(2) 1-4 2-E(2)
gbA 6 gbA 2-6 gbA 4-6 gbA 56 3-9, 11=E(1)
3=E(1) 3-5, 12=E(1) 3-6, 10=E(1) 3-7, 9=E(1) 10, 12=gbA
4-12=gbA 6-10, 11=gbA |7-9, 11, 12=gbA}| 8, 10-12=gbA
E3 ES E13 E18 E23
2=E(2) 1-2 2-E(2)1-4 2-E(2) 1-5 2-F£(2) 1 2-E(2) 1-3
gbA 3-6 gbA 56 gbA 6 gbA 2-6 gbA 4-6
3, 11=E(1) . 3-5, 11=E(1) 3-6, 9=E(1) 3-8, 12=E(1) 3-10,12=E(1)
4-10, 12=gbA | 6-10, 12=gbA |7, 8, 10-1 2=gbA 9-11=gbA 11=gbA
E4 E9 E14 E19 E24
2=F(2) 1-5 2=E(2)1 2=E(2) 1-2 2-E(2) 1-4 2-F(2)
gbA 6 gbA 2-6 gbA 36 gbA 56 3-11=E(1)
3-4=E(1) 3.5, 10, 12=E(1) 3-7=E(1) 3.8, 11=F(1) 12=gbA
5-12=gbA . 6-9, 11=gbA 8-12=gbA 9-10, 12=gbA
E5 E10 E15 E20 E25 or more
2-E(2) 1-2 2-F(2) 1-3 2-E(2) 15 2-E(2) 1 2-3=F(2)
gbA 3-6 gbA 4-6 gbA B gbA 2-6 4-12=E(1)
3-4, 11=E(1) 3-6=E(1) 3.7, 12-E(1) |3-8, 10, 12=E(1)
5.10, 12=gbA 7-12=gbA 8-11=gbA 9, 11=gbA N




1 gbA S St S Si**
2 gbA SI Si*x S SI**
3 gbA gbA SI* S SI**
4 gbA gbA SI SI** Si**
5 gbA gbA gbA S+ Si**
6 gbA gbA gbA SI S
7 gbA gbB gbC gbC St
13 gbA gbB gbB gbC Si**
14 gbA gbC gbC gbC SI*
15 gbA gbA gbC gbC gbC
16 gbA gbA gbC gbC gbC
17 gbA gbA gbC ghC gbC
18 gbA gbA, gbA gbB gbC
19 gbA gbA gbA gbB gbC
20 gbA gbA gbA gbB gbC
E4 E12 E18 E24 E30
2=E(1) 1-3 2-F(1) 1-3 2=E(1) 1-4 2.7=E(1) 2-F(1) 1
gbA 4-6 gbA 4-6 gbA 5-6 8-12=gbA gbA 2-6
3, 12=£(1) 3-5, 12=£(1) 3-6, 12=E(1) 3-8, 12=E(1)
4-11=gbA 6-11=gbA 7-11=gbA 9-11=gbA
E5 E13 E19 E25 E32
2=F(1)1-2 2=-FE(1) 12 2-E(1)1-3 2-F(1) 1-5 28, 11=E(1)
gbA 36 gbA 3-6 gbA 4-6 .gbA B 910, 12=gbA
3, 11=E(1) 3-5, 11=E(1) 3-6, 11=E(1) 3-7, 12=E(1)
4-10, 12=gbA 6-10, 12=gbA | 7-10, 12=gbA 8-11=gbA
E6 E14 E20 E26 E34
2=E(1)1 2=F(1) 1 2=F(1) 1-3 2=F(1) 14 2=F(1) 1-4
gbA 2-6 gbA 2-6 gbA 4-6 gbA 56 gbA 56
3-4=E(1) 3-5, 11, 12=E(1) |3-6, 11, 12=E(1)| 3-7, 11=E(1) |3-8,10,12=E(1)
5-12=gbA 6-10=gbA 7-10=gbA 8-10, 12=gbA 9, 11=gbA
E8 E15 E21 E27 E37
24, 12=E(1) 1 2-F(1) 1 2-E(1) 1-2 2-E(1) 1-3 2-E(1) 1-2
5-11=gbA gbA 2-6 ~ ghA36 gbA 4-6 gbA 3-6
3-5, 9=E(1) 3.6, 9-F(1) |3-7, 11, 12=E(1)| 3-10=E(1)
6-8, 10-12=gbA | 7-8, 10-12=gbA 8-10=gbA 11-12=gbA
E10 E16 E22 E28 E39
2-F(1) 1-4 25, 9=E(1) 2=F(1) 1 2-F(1)1-3 210, 12=E(1)
gbA 5-6 6-8, 10-12=gbA gbA 2-6 gbA 4-6 11=gbA
3-4, 11, 12=E(1) 3.6, 10, 11=E(1) | 3-7, 9=E(1)
5.10=gbA 7-9, 12=gbA | 8, 10-12=gbA
E1 E17 E23 E29 E41 or more
2-E(1) 1-4 2-E(1)1-5 2-6, 8=£(1) =E(1) 1-2 2=-F(1)1-5
gbA 56 gbA 6 7, 9-12=gbA gbA 3-6 gbA 6
3-5=E(1) 3-6=E(1) 3-8=E(1) 3-12=E(1)
6-12=gbA 7-12=gbA 9-12=gbA




1
2 gbA Sl Si** Si** Si**
3 gbA gbC SI* Si** Sir*
4 gbA gbC S DO** DO**
5 gbA gbC gbC DO** DO**
15 gbA gbA gbC SI* Si*
16 gbA gbA gbA gbB SI**
17 gbA gbA gbB gbB DO**
18 gbA gbA gbB ghC gbC
19 gbA gbB gbB ghbC gbC
20 gbA gbB gbC gbC gbC
E5 E13 E19 E25 E31
2-F£(2) 1-5 2-F(2) 1-3 2-E£(2) 1-2 2-F(2) 1 2-£(2) 1-5
gbA 6 gbA 4-6 gbA 3-6 gbA 2-6 gbA 6
3, 11=E(1) |35, 11, 12=E(1)| 3-6, 9=E(1) 3.7, 9=E(1) 3.9=E(1)
4-10, 12=gbA 6-10=gbA 7-8, 10-12=gbA | 8, 10-12=gbA 10-12=gbA
E6 E14 E20 E26 E32
2-F(2) 15 2-F(2) 1-3 2-F(2) 1-2 2-£(2) 2-E(2) 15
gbA6 gbA 4-6 gbA 36 3.7, 10, 12=E(1) gbA 6
3-4=F(1) 3-5, 9=E(1) 3-6, 8=E(1) 8-9, 11=gbA 3.9, 12=F(1)
5.42-gbA |68, 10-12=gbA | 7, 9-12=gbA 10, 11=gbA
ES E15 E21 E27 E33
2-E(2) 1-4 2-F(2) 13 2-E(2) 1 2-F(2) 2-F(2) 1-5
gbA 56 gbA 46 gbA 26 3.8=E(1) gbA 6
3-4, 11=E(1) 3-6=E(1) 3-7=E(1) 9-12-gbA 3-9,11=E(1)
5-10, 12=gbA 7-12=gbA 8-12=gbA 10, 11=gbA
E10 E16 E22 E28 E34
2-F£(2)1-4 2-F(2) 1-3 2-F(2) 1 2-F(2) 2-F(2) 1-5
gbA 56 gbA 4-6 gbA 26 3.8, 12=E(1) gbA 6
3-5-=E(1) 3.6, 12=E(1) 3.7, 12=E(1) 9-11-gbA  [3-9, 11, 12=E(1)
6-12=gbA 7-11=gbA 8-11=gbA 10=gbA
E11 E17 E23 E29 E35
2-F£(2) 1-4 2=F(2) 1-2 2-E(2) 1 2-E(2) 2=F(2) 1-4
gbA 56 gbA 36 gbA 26 3-8, 11=E(1) gbA 5-6
3.5, 12=E(1) 3.6, 11=E(1) 3.7, 11=6(1) | 9-10,12=gbA | 3-10, 12=E(1)
6-11=gbA 7-10, 12=gbA | 8-10, 12=gbA 11=gbA
E12 E1i8 E24 E30 E37 or more
2-F(2) 1-3 2-E(2) 1-2 2-£(2) 1 2-E(2) 1-5 2-E(2) 1-4
gbA 4-6 gbA 36 gbA 2-6 gbA 6 gbA 56
3.5, 11=E(1) |3-6, 11, 12=E(1) |3-7, 11, 12=E(1) 3-8, 11, 12=E(1)|  3-12=E(1)
6-10, 12=gbA 7-10=gbA 8-10=gbA 9-10=gbA




1
2 gbA Sl S S S
3 gbA ghC SI* Six St
4 gbA gbC SI* Si** S
5 gbA gbC gbC S Sl
6 gbA gbA gbC St Sl
7 gbA gbB gbB gbC S
13 gbA gbB ghbC gbC S
14 gbA gbC gbC gbC S
15 gbA gbA gbB gbC gbC
16 gbA gbA gbB gbC gbC
17 gbA gbA gbB gbC gbC
18 gbA gbA gbA gbB gbC
19 gbA gbA gbA gbB gbC
20 gbA gbA gbA gbB gbC
E7 E17 E23 E29 E36
2=E(2) 1 2-E(2) 1-4 2-E(2) 1 2=E(2) 1-4 2-E(2) 1-5
gbA 2-6 gbA 5-6 gbA 2-6 gbA 5-6 gbA 6
3-4=E(1) 3-5, 11, 12=E(1) | 3-6, 10=E(1) 3-7, 12=E(1) 3-8, 12=£(1)
5-12=gbA 6-10=gbA 7-9, 11, 12=gbA 8-11=gbA 9-11=gbA
E8 E18 E24 E30 E38
2=E(2) 2-E(2) 1-3 2=F£(2) 1-5 2=EF(2) 1-2 2=E(2) 1-2
3-4=E(1) gbA 4-6 gbA 6 gbA 3-6 gbA 3-6
5-12=gbA 3-5, 9=E(1) |3-6, 11, 12=E(1)| 3-7, 11=E(1) | 3-8, 11, 12=E(1)
6-8, 10-12=gbA 7-10=gbA 8-10, 12=gbA 9-10=gbA
E10 E19 E25 E31 E40
2=£(2) 1-3 2=F(2) 1 2=E(2) 1-4 2=E(2) 1 2=EF(2) 1-5
gbA 4-6 gbA 2-6 gbA 5-6 gbA 2-6 gbA 6
3-4, 11=E(1) 3-6=E(1) 3-6, 10, 12=E(1) | 3-7, 11, 12=E(1) 3-9=E(1) .
5-10, 12=gbA 7-12=gbA 7-9, 11=gbA 8-10=gbA 10-12=gbA
E12 E20 E26 E32 E42
2=F(2) 2=E(2) 2=F(2) 1-2 2=E(2) 1-5 2=E(2) 1-2
3-4, 11, 12=E(1) 3-6=E(1) gbA 3-6 gbA 6 gbA 3-6
5-10=gbA 7-12=gbA 3-6, 8=E(1) 3.7, 11, 12=E(1)| 3-9, 11=E(1)
7, 9-12=gbA 8-10=gbA 10, 12=gbA
E14 E21 E27 E33 E44
2=E(2) 1-3 2=F(2) 14 2=F(2) 1 2-F(2) 14 2-E(2) 1-5
gbA 4-6 gbA 5-6 gbA 2-6 gbA 5-6 ghbA 6
3-5, 12=E(1) 3-6, 12=E(1) 3-7=E(1) 3-7, 10, 12=E(1) | 3-9, 11, 12=E(1)
6-11=gbA 7-11=gbA 8-12=gbA 8-9, 11=gbA 10=gbA
E16 E22 E28 E34 E48 or more
2-F(2) 2-E(2)1-3 2-E(2) 1-5 2-FE(2) 1-2 2=E(2) 1-5
3-5, 11=E(1) gbA 4-6 gbA 6 gbA 3-6 gbA 6
6-10, 12=gbA 3-6, 11=E(1) 3-7=E(1) 3-8=E(1) 3-12=E(1)
7-10, 12=gbA 8-12=gbA 9-12=gbA




1 flyB TR***
2 flyB SI* DO** DO** DO*
3 flyC SI** S St Si
4 flyB flyB DO™ DO*** DO*
5 flyB flyB S Si** SI*
6 flyB flyB S DO** DO*
7 flyC flyC flyC S S
14 flyC fiyC flyC S St
15 flyC flyC flyC Sk SI
16 flyB flyA flyA flyA S
17 flyB flyB flyA flyA SI*
18 flyC flyC flyC Sl Sk
19 flyC flyB flyB S St
20 flyC flyC flyB flyB DO*
EO E4 E8 E11 E14
2-12-flyB 2-F(3) 1-4 2-F(3) 1-3 2-E£(3) 2-F(3) 1-3
flyA 5-6 flyA 4-6 3-7, 11, 12=E(2) flyA 4-6
3-4, 11, 12=F(2) B-6, 11, 12=£(2) |  8-10=flyB 3-9, 12=E(2)
5-10=flyB 7-10=flyB 10-11=flyB
E1 E5 E9 E12 E15
2-E(3) 1 2-£(3) 1-5 2-F(3) 1-4 2=F(3) 1 2=E(3)1-4
flyA 2-6 fiyA 6 flyA 5-6 fiyA 2-6 flyA 5-6
3=£(2) 3.5, 12=E(2) 3-6, 8=E(2) 3.8, 12-E(2) |3-9, 11,12=E(
4-12=flyB 6-11=flyB 7, 9-12=flyB 9-11=flyB 10=flyB
E2 E6 E10 E13 E16 or more
2-E(3) 1-2 2=E(3) 1 2-E(3) 1-5 2-E(3) 1-2 2-F(3) 1-5
flyA 3-6 flyA 2-6 flyA 6 flyA 3-6 flyA6
3, 11=E£(2) 3-5, 9=E£(2) 3-7, 12=E(2) |3-8, 11, 12=E(2) 3-11=E(2)
4-10, 12=flyB | 6-8, 10-12=flyB 8-11=flyB 9-10=flyB 12=flyB
E3 E7
2-F(3) 1-3 2-F(3) 1-2
fiyA 4-6 flyA 3-6
3-4, 12=E(2) 3.6, 12=E(2)
5-11=flyB 7-11=flyB



1 flyB DO* TR
2 flyB gp DO** DO** DO**
3 flyC Si** si* Sl SI*
4 flyB flyB DO** DO*** DO***
5 flyB flyB Sl S gl
6 flyB flyB Sl DO** DO**
7 flyC flyC flyC S g
8 flyC flyC flyC Sp* gl
13 flyC flyB flyB S+ gl
14 flyC flyC flyC S| g
15 flyC flyC flyC S Sl
16 flyB flyA flyA flyA g
17 flyB flyB flyA flyA g+
18 flyC flyC flyC flyB g
19 flyC flyB flyB flyB g
20 filyC . flyC flyB flyB DO**
EO 'E4 ES E11 E14
2-12-flyB 2-£(3) 1-4 2=F(3) 1-2 2-E(3) 1-5 2-E(3) 1-2
flyA 5-6 fiyA 3-6 flyA 6 flyA 3-6
3.4, 11, 12=E(2) |3-6, 11, 12=E(2) |3-7, 11, 12=E(2) | 3.9, 12=E(2)
5.10=flyB 7-10=fyB 8-10=flyB 10-11=ilyB
E1 E5 E9 Ei2 Ei5
2-F(3) 1 2-F(3) 15 2-£(3) 1-3 2-F(3) 2-£(3) 1-3
flyA 2-6 flyA 6 flyA 4-6 3.8-E(2) flyA 4-6
3=E(2) 3.5, 12=£(2) 3.6, 8=E(2) 9-12-flyB 3.9,11, 12=E(2)
4-12=flyB 6-11=flyB 7, 9-12=fyB 10=flyB
E2 E6 E10 E13 E16 or more
2-F(3) 1-2 2-F(3) 2-F(3) 14 2-F(3) 1 2-F(3) 14
flyA 3-6 3.5, 11, 12=E(2) flyA 5-6 flyA 2-6 flyA 5-6
3, 11=E(2) 6-10=1yB 3.7, 12=F(2) |3-8, 11, 12=E(2) | 3-11=E(2)
4-10, 12=flyB 8-11=1lyB 9-10=flyB 12=flyB
E3 E7
2-E(3) 1-3 2-£(3) 1
fiyA 4-6 flyA 2-6
3.4, 12=E(2) 3.6, 12=E(2)
5.11=flyB 7-11=flyB




